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Following steps removed:
58261.68924 : Step 1 =100 ns

58240

58270

Mdev

Tdev /s

625256 s: Mdev= 0.46816E-13 Tdev= 16900 ps
312628 s: Mdev= 0.71575E-13 Tdev= 12919 ps
156314 s: Mdev= 0.10247E-12 Tdev= 9248 ps

78157 s: Mdev= 0.14090E-12 Tdev= 6358 ps
39079 s: Mdev= 0.19888E-12 Tdev= 4487 ps
19539 s: Mdev= 0.29302E-12 Tdev= 3306 ps
9770 s: Mdev= 0.42855E-12 Tdev= 2417 ps
4885 s: Mdev= 0.61502E-12 Tdev= 1734 ps
2442 s: Mdev= 0.77383E-12 Tdev= 1091 ps
1221 s: Mdev=0.11316E-11 Tdev= 798 ps
611 s: Mdev= 0.22251E-11 Tdev= 784 ps
305 s: Mdev= 0.33590E-11 'Il'dev: 592 PS
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